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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(iii)
(iv)

(v)
(vi)
(vii)
(viti)
(ix)

67/4/3

This question paper contains 34 questions. All questions are compulsory.
This question paper is divided into two parts — Part A and Part B.
Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A
(Accounting for Partnership Firms and Companies)

Sujata Ltd. issued 5,000, 7% Debentures of ¥ 100 each at a premium of
10%. According to the terms of issue, 40% of the amount was payable on
application and the balance on allotment. The issue was fully subscribed
and all amounts were duly received. The amounts received on application

and allotment respectively were : 1
(a) ¥ 2,50,000 and ¥ 3,00,000
(b) ¥ 2,00,000 and ¥ 3,00,000
(c) < 2,00,000 and ¥ 3,50,000
(d < 2,00,000 and T 2,50,000
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AAAT
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(b)  Ed St

(c)  @fua il
d)  Afrifa gsh
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2. (1) Ria and Surbhi were partners in a firm sharing profits and losses
in the ratio of 3 : 2. With effect from 15 April, 2022, they agreed to
share profits equally. The goodwill of the firm was valued at
T 3,00,000. The adjustment will be done by which of the following
transaction ? 1

(a)  Debiting Surbhi’s account by ¥ 30,000 and crediting Ria’s
account by ¥ 30,000.

(b)  Debiting Ria’s account by ¥ 30,000 and crediting Surbhi’s
account by ¥ 30,000.

(c) Debiting Surbhi’s account by ¥ 3,000 and crediting Ria’s
account by ¥ 3,000.

(d)  Debiting Ria’s account by ¥ 3,000 and crediting Surbhi’s
account by ¥ 3,000.

OR

(i1) Naman, Suman and Mohit were partners in a firm sharing profits
in the ratio 8 : 5 : 3. With effect from 15t April, 2022, they decided
that in future, they will share the profits in the ratio 5 : 6 : 5.
Identify the gain or sacrifice by the partners due to change in
profit sharing ratio, from the following : 1

(a) Naman’s gain % , Suman’s sacrifice % , Mohit’s sacrifice —
, : 3 , .1 .2
(b)  Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16
2 ‘ 3 b . 2 R} . ].
(¢c) Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16

: . 2 : .
(d) Naman’s gain % , Suman’s sacrifice —, Mohit’s sacrifice —

3. Part of the uncalled share capital that can be called up only at the time of
winding up of the company is called : 1

(a)  Issued capital
(b)  Paid-up capital
(c) Reserve capital

(d)  Un-issued capital
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4. U BH & foged W feufy foawor & eeian mn wi=) T 2,00,000 o7 | B
HT 50% Teh FEER 4 T 65,000 H & ToTdm a1 29 50% ol & o 9 20%
A T &= T | Sk @Id o A Y& ° Wdlt <kl T8 qisT oft -

(a) ¥ 1,45,000 (b) ¥ 80,000
(¢ ¥ 65,000 @ ¥ 1,85,000

5. 9fd fdfide 7 T 10 I8 & 5,000 THAT 3790, e T 5 i 3w & Hiftem w
frifira fopem o e, = 4 gfd 3191 Y yem wa <ifcm ATRAT T PTAE T HH W
&0 Y oI | 0T WX ‘3731 &007 Wi’ o ST 9T § W] shi T8 [l Bt
(a) < 20,000 (b) < 30,000
© ¥ 50,000 d ¥ 55,000

ET1CTREGT Tl 1€d &1 9167 @o7 399 §1 73 a7 & STYR | 597 &7 6 a7
7 & I T :
h¥Td, HT AT JUL HISGR 9 qA1 3: 21 1 o T H 981 sied & | 37eh1
TR St AR T 12,00,000, T 10,00,000 TA1 T 8,00,000 off | I7 WEHIA 73
6 ISt WS 10% a1fies & & feam Smem | 9rEER 74 TR & 907 o &hel
B
*¥E T 5,000 Jfd HIE 9AT FWT T 3,000 Wi fwTR |
31 HT=l, 2022 %! §HTH §T a9 § HH &1 A9 T 6,72,000 o |
6. HEERI % ] @Al o 9H 9§ H St W =S qAq1 9T o fAC @dH
ST et Uiy of
(a) %@ T 1,20,000, FM T 1,00,000 R FH T 80,000
(b) h¥E T 1,80,000, FM T 1,12,000 3R T T 80,000
(¢) I T 60,000, FM T 12,000 3T TR T I
(d  ¥E T 3,30,000, F T 2,12,000 3R W T 1,30,000
7. ORI % ATe] @Al H gEATdid hl S aTeil Ty <hi Tl of
(a) I T 1,00,000, FM T 1,50,000 T T T 50,000
(b)  ¥E T 50,000, FT T 1,50,000 T G T 1,00,000
(c) ¥ T 1,50,000, %7 T 1,00,000 T T T 50,000
(d)  H¥E T 1,51,500, FT T 1,01,000 G5 G T 50,500
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4, On dissolution of a partnership firm, furniture appearing in the Balance
Sheet was ¥ 2,00,000. 50% of the furniture was taken over by a partner
at ¥ 65,000 and balance 50% was sold at 20% less than the book value.

The amount debited to bank account was : 1
(a) < 1,45,000 (b) < 80,000
(c) T 65,000 (d) < 1,85,000

5. Chavi Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a
premium of T 5 per share for non-payment of first and final call of T 4

per share. On forfeiture, ‘Share Forfeiture Account’ will be credited by : 1
(a) T 20,000 (b) ¥ 30,000
(c) < 50,000 (d) T 55,000

Read the following hypothetical situation and answer questions number

6 and 7 on the basis of the given information :

Keshav, Krishna and Murari were in partnership sharing profits and
losses in the ratio of 3 : 2 : 1. Their fixed capitals were : ¥ 12,00,000,
< 10,00,000 and ¥ 8,00,000 respectively. It was agreed that interest on
capital will be allowed at 10% per annum. Partners were entitled to
salaries as follows :

Keshav ¥ 5,000 per month and Krishna ¥ 3,000 per quarter.

Profit of the firm for the year ended 315t March, 2022 was ¥ 6,72,000.

6. Amount credited to the Partners’ Current Accounts on account of ‘interest
on capital’ and ‘salary’ was : 1
(a) Keshav ¥ 1,20,000, Krishna ¥ 1,00,000 and Murari ¥ 80,000
(b) Keshav T 1,80,000, Krishna ¥ 1,12,000 and Murari ¥ 80,000
(c) Keshav ¥ 60,000, Krishna ¥ 12,000 and Murari ¥ Nil
(d) Keshav T 3,30,000, Krishna ¥ 2,12,000 and Murari T 1,30,000

7. Amount of profit transferred to Partners’ Current Accounts was : 1
(a) Keshav T 1,00,000, Krishna ¥ 1,50,000 and Murari ¥ 50,000
(b) Keshav T 50,000, Krishna ¥ 1,50,000 and Murari ¥ 1,00,000
(c) Keshav ¥ 1,50,000, Krishna ¥ 1,00,000 and Murari ¥ 50,000
(d) Keshav ¥ 1,51,500, Krishna ¥ 1,01,000 and Murari ¥ 50,500
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10.
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(1)

(i1)

3, HI T G T B H HIHGR A q9AT 5:3:2 o I | AH H
fauTeM &t & | 1 a1, 2022 1 T 1 9T g1 W0 | o7 99 91,
HI % W oh1 AR =1 ST § &l
(@ 1:1 (b)
(0 5:3 d)

AT

fafca, gwa qen Hiar teh wH | AEGR o 991 4 : 3 : 19 3T § ATHI
&1 faurH ot o | Hiar &1 fga g1 9o 3weht '/ 9w fafg 3 @
foren | fafqa qen giwa =1 7o S9-fastem srgama g

(a) 1:1 (b) 5:3
(c) 3:5 (d) 5:2

fasa don 9 T WH % WEER @ | "SGR Ho@ % IHHN HTEU W
12% aTfdeh g0 & SIS T ST | STl W &A1 ! 1y-a1 fafrase @ o

gEadid i o fou Fefafaad & 9 -8 @ & 9 98 § @4l <kl
STt ?

(a)
(b)
(c)
(d)

1)

STTET WSS @Il
ek @

gTeieii < =Te] @
HTEGRI < Yt @rd

qaEd ffide 9 T 10 I % 50,000 THAT 7301 sl T0ey R Frifad
g@%%ﬂ e AW fohu | ufa srer TfSt &1 YA = YR |
q1

JATEET W T 3; e W T 4 9971 JIH TF Af<H IJ=AT W T 3 |
1,45,000 EHAT 30 o [eAQ 3o ITH Y | 20,000 3 o AT Hl
T8 L T T QT I ATAGEhl Wl IMUTRAH SATUR T A I AT
Toram T | 3TTee W uTH SIfAih T o1 SHREISH 3TTEed 9 JUH U9
AfH I | T TR H o ToFn | 1fW It @id o ST 9eT |
CARIERCRICIRCA RN

(a) ¥ 2,25,000 (b) ¥ 25,000
¢ ¥ 1,75,000 @ I3
arerat
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8. (1) Anu, Monu and Sonu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Monu died on 15t January, 2022. Anu and Sonu

will acquire Monu’s share in the ratio of : 1
(@ 1:1 (b) 3:2
() 5:3 d 5:2

OR

(i)  Vidit, Sumit and Mita were partners in a firm sharing profits in
the ratio of 4 : 3 : 1. Mita died and her entire share was taken up
by Vidit. The new profit sharing ratio of Vidit and Sumit will be : 1

(a) 1:1 (b) 5:3
(c) 3:5 (d) 5:2

9. Vijay and Ajay are partners in a firm. The partnership agreement
provides for interest on drawings @ 12% per annum. Which of the
following account will be debited to transfer interest on drawings to
Profit and Loss Appropriation A/c ? 1

(a) Interest on Drawings Account
(b) Bank Account
(¢) Partners’ Current Account

(d) Partners’ Capital Account

10. (D Manmohan Ltd. invited applications for issuing 50,000 equity
shares of ¥ 10 each at par. The amount payable per share was as
follows :

On application ¥ 3; on allotment ¥ 4 and on first and final
call T 3.

Applications were received for 1,45,000 equity shares. Applications
for 20,000 equity shares were rejected and remaining applicants
were allotted shares on a pro-rata basis. Excess application money
received with application was adjusted towards sums due on
allotment and first and final call. Amount credited to

calls-in-advance account was : 1
(a) ¥ 2,25,000 (b) ¥ 25,000
(c) < 1,75,000 (d  Nil

OR

67/4/3 ~~~ Page 9 P.T.O.



(ii) aﬁaﬁlﬁﬁ%%wﬁlwl ARgd H ¥ HIF-91 HIF Fal 8 ?

(a) 39 gt Y 9 Ul 7 o gwen & sfgffadi & sgEr ww
wﬁﬁﬂ‘rqtrés%qm“ 2|

(b) %ﬁwwwaﬁ'w%ﬁﬁﬁm%%@mﬁ

aTEdtareh &9 & fifha fopam e 2 |
(c) gﬁ'ﬁf&lﬁﬁwa@ﬂmﬁﬁlﬁwmﬁqlmqﬁaﬁqﬁm
|
(d) Ig IIfaa (AT Tg) IS 1 98 W & 8 SmIaiehl 9 ardiae
w9 | gTH foman T B |

11. (1) uer fafes 3 T 100 9@ % 2,00,000, 7% FOGHAT i 5% qg W
frifira fepen, fSem oM 5% Nftem W @1 8 | o= & e w
g qA Wed W Hiftem &1 o Seome e w1l @El’ & mesw 9
o T | ROrEn o R W Sromy T gifd @’ | @t 6
GlT"{"ﬁ:
(a) ¥ 10,00,000 & SHT U&7
(b) ¥ 10,00,000 ¥ =19 9& ¥
(¢) ¥ 20,00,000F 9 98 T
(d ¥ 20,00,000 § 4T 9&T H

AT

(i)  <re fafieg 3 T 100 I % 4,000, 9% U I 10% G R FHfHd
fora fSmemt e ifiem W fomam ST o | SRt o T W w3t
SRuTEl o wEd W W o @ Swude e g1 @ o giem °
foram | 9fe ‘o T ' @ # T 60,000 9, A1 O

e ) fiftem B Ty of .
(a) T 60,000 (b) T 40,000
(¢) T 20,000 (d) ¥ 80,000

12. T, G A1 T hH BH o faeed | T aft aget == T S & foTT
Wgaﬂﬁaé;%naﬁ T 14,500 1 YA TRAT TAT | ST 6 IRAlh
=i T 11,000 T T T gRT T |

T o YSf WA o ST 98 § @l shl ST Frel! U1 g
(a) T 11,000 (b) ¥ 3,500
(¢ T 14,500 d T 25500
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11.

12.

67/4/3

(i1)

(1)

(i1)

Which of the following statement is correct regarding subscribed

capital ?

(a) It is the amount of share capital which a company is
authorised to issue by its Memorandum of Association.

(b) It is that part of authorised capital which is actually issued
to the public for subscription.

(c) It is that part of the issued capital which has been actually
subscribed by the public.

(d) It is that part of the called-up capital which has been
actually received from shareholders.

Anuradha Ltd. issued 2,00,000, 7% debentures of ¥ 100 each at a
discount of 5% redeemable at a premium of 5%. Discount on issue
and premium on redemption were accounted for through ‘Loss on
Issue of Debentures Account.” On issue of debentures, ‘Loss on
Issue of Debentures Account’ will be :

(a)  Credited by ¥ 10,00,000

(b)  Debited by ¥ 10,00,000

(c) Debited by ¥ 20,00,000

(d)  Credited by ¥ 20,00,000

OR

Diksha Ltd. issued 4,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium. ‘Discount on Issue of
Debentures’ and ‘Premium on Redemption of Debentures’ were
accounted for through ‘Loss on Issue of Debentures Account’. If the

amount of ‘Loss on Issue of Debentures Account’ was ¥ 60,000,
then the amount of premium on redemption was :

(a) ¥ 60,000 (b) ¥ 40,000
(¢ ¥ 20,000 (@ ¥ 80,000

On dissolution of the firm of Ramesh, Suresh and Naresh, Naresh had
agreed to bear all realisation expenses for which he was paid ¥ 14,500.

Actual expenses on realisation amounted to ¥ 11,000 which were paid by

Naresh. The amount to be credited to Naresh’s capital account will be :

(a)
(c)

T 11,000 (b) T 3,500
T 14,500 (d) T 25,500

1
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13.

14.
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(1)

(i1)

A, Th |EGR 4 1 FaE, 2020 H T 1,20,000 T KT BH hl
oo | arge Toe it erqufeafd § 31 9, 2021 i RO W T AN
61 ufsr gt

(a) ¥ 3,600 (b) T 7,200
© ¥ 12,000 @ T 6,000
arerat

forera, 79T 91 1T Ueh HH o TECR & a1 AH-8+ 7:5:8 %
I | Sled & | 28 IFTE, 2021 1 F9F I T & T8 | Jog hi fafy
Toh U o AU § 3ok WWT hl TET T 75,000 i g | SEh! @aiH!
fafaiaa & 9 -8 @d & T 981 § Gl ik shl I ?

(a) ATH-SIH 39d QTdl

(b)  ATH-EI Erar

o N

(c) ow-gr fafnse @

(d) -1 FHRSH Q]

Ao (4): BH % THST W THh Il o Hod H Feiald ol @art

e @Id @ 19 g& H il It 7 |

SR (R) : ATl o Yed § gig BT Bl 7 |
fafafaa 7 9 vt fasrew =1 =@ Fifve

(a)
(b)
(c)

(d)

AR (A) T& B, Ted R (R) Teld 2 |

AMYH (A) TeAd 8, T RO (R) TE 7 |

AMHAT (A) TAT RO (R) THT F&l & 9T RO (R), IT1heH (A)
g e 2 |

MR (A) TYUT IO (R) 1 T 2 |
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13.

14.
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(1)

(i)

On 1St October 2020, Amit, a partner, advanced a loan of
¥ 1,20,000 to the firm. In the absence of partnership deed, the

amount of interest on loan to be paid on 315t March, 2021 will be :

(a) ¥ 3,600 (b) T 7,200
¢ ¥ 12,000 @ ¥ 6,000
OR

Vijay, Ajay and Sanjay are partners in a firm sharing profits and
losses in the ratio of 7 : 5 : 8. Sanjay died on 28th August, 2021. His
share in the profits of the firm till the date of his death was
determined at ¥ 75,000. It will be debited to which of the following
accounts ?

(a)  Profit and Loss Suspense Account

(b)  Profit and Loss Account

(c) Profit and Loss Appropriation Account

(d)  Profit and Loss Adjustment Account

Assertion (A) : Increase in the value of liabilities on reconstitution of a

firm 1s debited to Revaluation Account.

Reason (R): Increase in the value of liabilities is a loss.

Select the correct alternative from the following :

(a)
(b)
(c)

(d)

Assertion (A) is correct, but Reason (R) is wrong.
Assertion (A) is wrong, but Reason (R) is correct.

Both Assertion (A) and Reason (R) are correct and Reason (R) is

the correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are wrong.

~~~~ Page 13 P.T.O.



15.

16.

17.

67/4/3

T BH 6l T 6 AT TUSe IR aut o T|d oY o | au1 % A 6
HTYR R HT 75 | 31 7= ! GHTH FC IS =R i o o9 o

o /1 (%)
2018 — 19 (14,500)
2019 — 20 15,400
2020 — 21 32,900
2021 — 22 16,800

®H T TR T Iod BT

(a) T 8,885

(b) T 37,950

(c) T 58,950

(d) T 20,690

fiar, T qn e AR 9 qAT 4 : 3 : 2% AU § A died o | BH &
g T e qen 999 Yok 9 Wi H 9§ % 9T w6t <d 7 | e, T

qen e =1 T Ary-fauTe STguTd g

(a) 3
(b) 2
(c) 4:
@ 3
HeY AT G Teh HH o ATER I QAT 2 : 1% I H AT9-gIH 1 favrem
9 | IR A et # 3 3 e aier § e | S s
gSft & fou = 2,00,000 1 @nfd Hiftem % fou smawss Uiy T @i | wH
i @ W1 ek T 12,00,000 TR T | WEIER 1 =T oAnd-faaee

IEAE 2:1: 197 | TR qAT G A I 9T h1 AT T AW HL o |
®H I &R H ITYTH TG oh 1T STTETIeh eI Tfafsear Hif |

N DN W s~

2
14
3
4
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15. The goodwill of a firm was valued on the basis of 3 years purchase of
average profits for the last four years. The profits of last four years
ending 315t March were as follows :

Year Profit/Loss (3)
2018-19 (14,500)
2019 - 20 15,400
2020 — 21 32,900
2021 - 22 16,800
The value of goodwill of the firm was : 1
(a) T 8,885
(b) % 37,950
(c) T 58,950
(d ¥ 20,690

16. Niva, Naman and Nityam were partners sharing profits in the ratio of
4 : 3 : 2. Niva and Naman each give — from their share to Nityam on
reconstitution of the firm. The new profit sharing ratio among Niva,

Naman and Nityam will be : 1
(a) 3:4:2
(by 2:3:4
(c) 4:2:3
d 3:2:4

17. Mahesh and Suresh were partners in a firm sharing profits and losses in
the ratio of 2 : 1. They decided to admit Nita into partnership with ith
share in the profits. Nita brought ¥ 2,00,000 for her capital and the
requisite amount of goodwill premium in cash. The goodwill of the firm is
valued at ¥ 12,00,000. The new profit sharing ratio of the partners is
2 :1:1. Mahesh and Suresh withdraw their share of goodwill.

Pass necessary journal entries in the books of the firm for the above
transactions. 3
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()

1 30, 2021 & fzaw fafies 3 yoa f@fes $it < 8,00,000 i
giEgfaEi 9em T 40,000 <hl SIAIST hT IEWEW T 8,30,000
$a Yo W TR | faw fafiee = wiee fafade =61 ymae e TR &
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(i) T 2,00,000 I Th TR gt AT G ATE 9T I off, qe

(i) o fAHEE I AT A eI H YPAE T 100 T&H b 10%
O Bl 10% o W FHifaa s foram o |

3T ol @1 Tgdy fafies it geaepl # <@ & o fofu tewaeh

U= gfafsear hifve |

AYAT

foam fafiee 9 < 100 =% @ 500 M & = 10% Hfm =
frifaa fomem e o qem oW W = 90 o ot 7 U A, T 30 Ui W
arered (Sfiftem afgd) don = 20 Ui 3791 YoM JTAT T YA T HH W
O L TeTd | 90 | 300 370 I T 80 Wid 3T IUF g gA:ifha e
Tz T |

3791 o &0 qn YA fTe S streveres T gfafseat fifve |

Hif-ehT, T AT HHITCT! HBIEGR & A 6 : 4 : 1 % I H o
Siedt 8 | HEfAeht Sl @l H 3w 91 % faw = 3,00,000 H =LA
iy ft M @ T R |31 W, 2022 H GEH §C 9§ F BH H
3 22,00,000 I Ig AIH AT |

31 ®T=, 2022 ! THTH BL Y  [Q BH 1 AW faf=aem @
RRESEIELS

AAAT
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18. (a) On 1St April, 2021, Hitesh Ltd. took over assets of ¥ 8,00,000 and
liabilities of ¥ 40,000 of Pranjal Ltd. at an agreed value of
T 8,30,000. Hitesh Ltd. paid the amount to Pranjal Ltd. as

follows :

(1) Gave an acceptance payable after 3 months for ¥ 2,00,000,
and

(i)  Issued 10% Debentures of ¥ 100 each at a discount of 10%
to Pranjal Ltd. in satisfaction of the balance amount of

purchase consideration.

Pass the necessary journal entries to record the above transaction
in the books of Hitesh Ltd. 3

OR

(b)  Disha Ltd. forfeited 500 shares of ¥ 100 each issued at 10%
premium, T 90 called up, on which the shareholders did not pay
T 30 per share on allotment (including premium) and first call of
T 20 per share. Out of these, 300 shares were reissued for ¥ 80
per share, fully paid up.

Pass necessary journal entries for forfeiture and reissue of shares. 3

19. (a) Monika, Bhoomika and Kamolika are partners sharing profits in
the ratio of 6 : 4 : 1. Kamolika is guaranteed a minimum amount of
T 3,00,000 as her share in profits. The firm earned a net profit of
T 22,00,000 for the year ended 315t March 2022.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 315t March, 2022. 3

OR
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(@) o=, 9Et qon Figh Toh BH H Aeier off qum IRl Sl shEw:
T 3,00,000, T 2,00,000 T T 1,00,000 °ff |
TTHER Fel@ oh a9l o TIER :
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(i) W& T 4,000 TS Id hl FeheR ot |

IRk gHESHN i fRy foT 31 A=, 2022 %I € §T 99 & AH
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off | FTEERl Hor@ | MHlRad 1 TagH o

(®) 10% Tt X § ISl WS |

(@) 6% a1 e B M0 W A |

()  ®H HI ATHER g T T HOr W 9% AT¥E X T = |
I¥ & eNH JAfefd 7 T 60,000 qAT i I T 50,000 T ITEWO fRAT |
1 faaw, 2021 =1 9 5 BH DI T 40,000 BT 0T T |

31 HTE, 2022 %! GAH gC 99 * ¢ Tmfafgd ame o wd s gedel |
JEYTh U= fafsedt Hif .

()  dfet S IS WS YgH HE & A |

(i) Ml = AT W TS JUTHE i & T |

(iii) %Y GRI BH ol TG T R0 W AN YgH i o T |

iy & AW U9 B Gd/AY g g fafeee @ q, S o feafa e,
A gfafseat i |
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(b)  Ananya, Bhavi and Chandni were partners in a firm with capitals
of ¥ 3,00,000, T 2,00,000 and T 1,00,000 respectively.

According to the provisions of the partnership deed :

(1) Ananya and Chandni were each entitled to a monthly salary
of T 1,500.

(ii)  Bhavi was entitled to a salary of ¥ 4,000 per annum.

The profit for the year ended 315t March, 2022, ¥ 80,000 was
divided between the partners in their profit sharing ratio of 3 : 3 : 2

without providing for the above adjustments.

Pass the necessary adjustment entry to rectify the above omissions

in the books of the firm. Show your working notes clearly. 3

20. Aditi, Bobby and Krish were partners in a firm sharing profits and losses
in the ratio of 5 : 3 : 2. Their capitals were ¥ 5,00,000, ¥ 4,00,000 and
T 2,00,000 respectively. The partnership deed provided for the following :

(a) Interest on capital @ 10% per annum.
(b)  Interest on drawings @ 6% per annum.
(c) Interest on partner’s loan to the firm @ 9% per annum.

During the year, Aditi had withdrawn ¥ 60,000 and Bobby < 50,000.
On 15t September, 2021, Krish had given a loan of ¥ 40,000 to the firm.

Pass necessary journal entries in the books of the firm for the following
transactions for the year ended 31t March, 2022 :

1) Allowing interest on Bobby’s capital.
(ii))  Charging interest on Aditi’s drawings.
(iii)  Providing interest on Krish’s loan to the firm.

Also pass transfer entries in the Profit and Loss Account/Profit and Loss

Appropriation Account, as the case may be. 3
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ehTST, STTERTST AT fIohTd Ueh SHa@T™ o TSGR & o7 2 : 2 : 1 o FUd H

AT ! Sfed o | 31 °, 2022 i 3T fedfa feawor =1 g o
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FEIN 1,20,000 IEER 1,40,000
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7,00,000 7,00,000
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7 =
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(iii)
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31 9 ! G9TH fUsd I) auf & @y = R 9 -
2018 — 19, ¥ 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
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ey ! fdfer sk gefeh FTEIGR 1 & T 20,000 T |

ISt W AN 12% a1 o & fean smam |
foera o ITTRITT ! TEqd i o foIQ foehd &1 ISl @rar daIr i |
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21. Prakash, Aakash and Vikas were partners in a business sharing profits
in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022 was as
follows:

Balance Sheet of Prakash, Aakash and Vikas as at 315t March, 2022

Liabilities Am;unt Assets Am;unt
Creditors 2,00,000 | Bank 40,000
General Reserve 1,00,000 | Stock 60,000
Debtors 1,60,000
Capitals : Investments 1,40,000
Prakash 1,20,000 Furniture 70,000
Aakash 2,00,000 Building 2,30,000
Vikas 80,000 | 4,00,000
7,00,000 7,00,000

Vikas died on 30th September, 2022. On the death of a partner the

partnership deed provided for the following :

(1)

(i1)

(iii)

(iv)

Deceased partner will be entitled to his share of profit up to the

date of death calculated on the basis of previous year’s profit.

His share in the Goodwill of the firm, calculated on the basis of
3 years purchase of average profits of last four years. Profits for
last four years ended 315t March were as follows :

2018 -19, ¥ 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
and 2021 — 22, ¥ 60,000.

Drawings of the deceased partner up to the date of death were

< 20,000.

Interest on capital was allowed @ 12% per annum.

Prepare Vikas’s Capital account to be rendered to his executors.

67/4/3
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TR TS 1 T 10 TAh o FHAT /M H fa9® T 20,00,000 i ATehd
gstt ot | HE 9 60,000 WM ok THHA %k AU 3Teed smbE fRT |
58,000 37211 % fOTT 3TEET 93 9T 3T |
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o
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yfafseat S -

i T 2,600 % ®H % Gl A B WIAE Tk HIPER, IO gRI TR
™ |

(i) ¥ 4,500 % Th THGR 7 T 5,200 THoF I Tk QU FueH ¥ o fo= |

(it) T IAfAREd TFIT & T 3,500 I IEA T3 |

(iv) ¥ 20,000 % AY TSR I 5% g T YT HL {1 T |

(v) ¥ 30,000 Y Tk hl Tsh HTEER, o0, 7 20% 55 W o o |

(vi) ot e 3ifea gea T 10,000 o, & 40% 6T SEH T3 |

frfafgd oel & fau ama fafies &t gwael # ol o e 6

TSI U= gferfsed] hifvu -

i) T 100 ¥ & T 10,00,000, 9% T bl AT 10% &g W foham T
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(i) ¥ 100 Y& % T 30,00,000, 8% FOGAT 1 FFHT FHIeT T fopam o
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(iii) ¥ 100 II% o 6,000, 9% T w1 FHT 10% Hfmm w® e wn
Rrent wiem 5% Sty W foran ST 2
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22,

23.

24.

67/4/3

Sunstar Ltd. has an authorised capital of ¥ 20,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 60,000
shares. Applications were received for 58,000 shares.

All calls were made and were duly received except the final call of ¥ 3
per share on 2,000 shares. These shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same.

Pass necessary journal entries for the following transactions on the
dissolution of a firm after various assets (other than cash) and outside
liabilities have been transferred to Realisation Account :

i) Realisation expenses of the firm amounting to ¥ 2,600 were paid
by partner, Aman.

(i1) A creditor of ¥ 4,500 took over stock valued at ¥ 5,200 in full
settlement.

(i11)) An unrecorded asset realised ¥ 3,500.

(iv) Remaining creditors amounting to ¥ 20,000 were paid at a
discount of 5%.

(v)  Remaining stock of ¥ 30,000 was taken over by Bimal, a partner,
at a discount of 20%.

(vi) Investment whose face value was ¥ 10,000 was realised at 40%.

Pass the necessary journal entries for the issue of debentures in the
books of Amrit Ltd. for the following transactions :

(1) Issued ¥ 10,00,000, 9% Debentures of T 100 each at a discount of

10%, redeemable at a premium of 5% after three years.

(ii)) Issued ¥ 30,00,000, 8% Debentures of ¥ 100 each at par,

redeemable at a premium of 5%.

(iii) Issued 6,000, 9% Debentures of ¥ 100 each at a premium of 10%,

redeemable at a premium of 5%.
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(%) oW a1 B9 Th BH hI ATeIGR off qAT 5 : 3 o FI H ATH-ZIH Sedt
off | 1 319, 2022 &l I&H Afefd 1 weh GEier sA=T | 39 fafs i
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(a) Bhumi and Chavi were partners in a firm sharing profits and

losses in the ratio of 5 : 3. They admitted Aditi in the firm on

18t April, 2022. On that date their Balance Sheet was as follows :

Balance Sheet of Bhumi and Chavi as at 15t April, 2022

A t A t
Liabilities T2 | Assets e
Capitals : Machinery 3,80,000
Bhumi 3,20,000 Furniture 50,000
Chavi 3,40,000 | 6,60,000 | Debtors 2,30,000
General Reserve 80,000 | Stock 1,50,000
Bank loan 60,000 | Cash 50,000
Creditors 60,000
8,60,000 8,60,000

. : : | :
Aditi was admitted in the firm with — share in profits on the

following terms :

(1) Aditi will bring ¥ 3,00,000 as her capital.

(ii)  Aditi will bring her share of goodwill premium in cash.

Goodwill of the firm was valued on the basis of two years

purchase of average profits of the last three years. Average

profits of the last three years were ¥ 60,000.

(iii) Machinery was revalued at ¥ 4,60,000.

(iv) The capitals of Bhumi and Chavi were adjusted on the basis

of Aditi’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR

a2 2o 2o 4
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(@) A, offAr qen A wreier off 9ur 50 3 : 2 % AU | AH-gI afedt
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31 W=, 2022 1 TAT, A1 qor =T 1 feufa feemom
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(b)

Anna, Bina and Teena were partners sharing profits and losses in

the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2022 was

as follows :

Balance Sheet of Anna, Bina and Teena as at 315t March, 2022

Liabilities Amount | 4 sets Amount
Creditors 66,000 | Furniture 1,12,000
Bills Payable 59,000 | Stock 1,77,000
Debtors 2,80,000
Capitals : Less — provision for
Anna 2,00,000 bad debts 7,000 | 2,73,000
Bina 2,00,000 Cash 63,000
Teena 1,00,000 | 5,00,000
6,25,000 6,25,000

On the above date, Anna retired on the following terms :

(1) Goodwill of the firm was valued at ¥ 60,000 and Anna’s share of

goodwill was adjusted through the capital accounts of remaining

partners.

(i1)

(iii)

Furniture was depreciated by ¥ 10,000.

Anna was to be paid through cash brought in by Bina and Teena in

such a way as to make their capitals proportionate to their new

profit sharing ratio of 1 : 1.

Prepare Revaluation and Partners’ Capital Accounts.

a2 2o 2o 4
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()
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AMYR W AT R g T | &g W giH Afaficd gaafsr =
HqulwmlqddWéarrﬁﬂﬁwﬁmwI‘er‘lﬁéarrfifrwéﬂé
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(b) TR & AYfahalati @l T 2,00,000, 9% FUTGEAT 1 fHHA
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(d) % H T 20,000 % <k ST fRT
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26. (a) Yash Ltd. invited applications for 50,000 equity shares of ¥10 each
at a premium of 10%. The amount was payable as follows :
On application ¥ 3 per share; on allotment (including premium)
T 3 per share and on first and final call, the balance amount.
Applications were received for 1,20,000 shares and shares were
allotted on pro-rata basis to all applicants. The excess money
received on application was to be adjusted towards sums due on
allotment. Application money in excess of sums due on allotment
was refunded. A shareholder who applied for 6,000 shares could
not pay the first and final call money and his shares were forfeited.
The forfeited shares were reissued for ¥ 60,000 fully paid up.

Pass necessary journal entries for the above transactions in the
books of Yash Ltd. 6

OR

(b) Ajanta Ltd. issued a prospectus inviting applications for issuing
5,00,000 equity shares of ¥ 10 each issued at a premium of 10%.
The amount was payable as follows :
On application — ¥ 3 per share
On allotment (including premium) — ¥ 5 per share
On first and final call — ¥ 3 per share
Applications were received for 6,00,000 shares and pro-rata
allotment was made to all applicants. Excess money received on
application was adjusted towards sums due on allotment. All
amounts were duly received except from Sumit, who was the

holder of 1,000 shares, and failed to pay the allotment and first
and final call. His shares were forfeited.

Pass journal entries for the above transactions in the books of

Ajanta Ltd. Open calls-in-arrears account wherever necessary. 6
PART B
OPTION -1
(Analysis of Financial Statements)
27. (1) Which of the following will result in flow of cash ? 1

(a) Cash withdrawn from the bank ¥ 50,000
(b) T 2,00,000, 9% debentures issued to vendors of machinery
(c) T 30,000 received from debtors

(d)  Cheques of ¥ 20,000 deposited in the bank
OR
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(i1)
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(a)
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1)

(i1)
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o nfafafa & wa &

~

Uhg T Uhs dod o &9 A

Ife I 99 § Y= 8 AT T 10,00,000 7 TAT Fohel M, AR T
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(a) T 2,50,000 (b) ¥ 12,50,000
e T 2,00,000 @ ¥ 8,50,000
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(a) 100%
(b)  60%
(c)  40%
(d) 160%
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(ii)  An investment normally qualifies as cash equivalent only when it
has a short maturity, of say, _ from the date of acquisition. 1

(a) Three months or more
(b) Six months or less
(c) One year or less

(d) Three months or less

28. Which of the following is not a Solvency Ratio ? 1
(a)  Return on Investment
(b)  Interest Coverage Ratio
(c) Proprietary Ratio
(d)  Total Assets to Debt Ratio

29. While preparing Cash Flow Statement, ‘Interest received’ by a finance
company is classified as : 1
(a)  Financing activity
(b)  Operating activity
(c) Investing activity

(d) Cash and cash equivalents

30. (1) If revenue from operations is ¥ 10,00,000 and gross profit is 25%

on cost, cost of revenue from operations will be : 1
(a) ¥ 2,50,000 (b) < 12,50,000
(c) < 2,00,000 (d < 8,50,000
OR
(i1)  If the operating ratio of Aman Ltd. is 60%, its operating profit ratio
will be : 1
(a) 100%
(b)  60%
(c) 40%
(d 160%
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TGl | AT I T, HST AT IUH hIg IR T8l ST :

(%) T 60,000 % TTA HT TS
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31. Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(1) Prepaid Rent
(ii)  Mortgage Loan

(iii) Computer Software

32. ‘These ratios are calculated to analyse the earning capacity of the
business which is the outcome of utilisation of resources employed in the
business.’ 3

(i) Identify the types of ratios being discussed above.

(ii)  Explain any two ratios of the type of ratios identified in (i) above.

33. (1) (a) Y Ltd. has a Current Ratio of 3-5 : 1 and Quick Ratio of
2:1. If excess of current assets over quick assets
represented by inventory is ¥ 48,000, calculate current
assets and current liabilities. 242=4

(b)  Calculate Debt to Equity Ratio :

Shareholder Funds - < 2,00,000

Reserves and Surplus — ¥ 1,00,000

Total Debt — T 4,00,000

Current Liabilities — ¥ 1,00,000
OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons
which of the following transactions would improve, reduce or not
change the ratio : 4

(a)  Purchase of goods for cash ¥ 60,000

(b)  Purchase of fixed assets for cash T 2,00,000

(c) Sale of goods costing ¥ 20,000 for ¥ 23,000 on credit
(d)  Issue of shares ¥ 10,00,000
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7 reuter U 1 gfeu 9 39 YR W feu MU g9 &1 I ST :

H9a Th

g1y Teh

1 YT SHGE I
ﬁm%{sﬁﬁw

wﬁmnmaﬁﬁlﬁﬁamwaﬁaﬁﬁ%

o

SR TS 1 Jh sqcdehl HIY] feafh

wﬁf%uaﬁa 2019@314%34@&&3%%@1%%

q &1 T4 fopa | 3| Aat
foha | 3eh1 @ Ush 9%d I8 o1 | 319 o 9gd

o€ 1 a4 fmam | 31, 3 2022 I

Tee fafies o1 feafa foawo o
31 W=, 2022 1 #raa fefies =t feafa feaon
e | 31.3.2022 | 31.3.2021
e )
g. T T
I — FWAT T SIaTU
1. qvawes fAfeat
%) 3T YA 35,00,000 | 25,00,000
(@) 7= ug Ay
(emaTy ferean) 12,50,000 | 10,00,000
2. A A0
élﬁ%lffilq 3
e 12,50,000 |  3,50,000
(10% RUT9=)
3. %na\éa?nﬁ
& ) AR IUT
(3 srerfEd) 50,000 75,000
(@) =i < 2,560,000 | 1,50,000
(1) TRTA T 1 1,50,000 75,000
K3 64,50,000 | 41,50,000
II - gfErg it
1 A=A it
Tt gfgrataat
(%) gd FiEEafaat 2 40,00,000 | 22,50,000
(@) o7 aiwatoaT
3,50,000 |  5,00,000
()
2 6] gt
(%) 3a=l (W) 6,25,000 | 5,00,000
(@) =mTieh 91 12,50,000 |  7,50,000
(1) TS Td THhS Iod 2,25000 |  1,50,000
EXl 64,50,000 | 41,50,000

a2 2o 2o 4
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Read the following hypothetical text and answer the given question on
this basis :

Madhav is a young entrepreneur. On 15t April, 2019, he formed a
partnership firm with two of his friends, Mohan and Sohan. They started
their business of exporting dry fruits. Their business was a successful
business. Now they wanted to expand the business in many other
countries. For meeting the financial requirements, they changed the form
of business organisation and formed Madhav Ltd. The Balance Sheet of

Madhav Ltd. as at 31.3.2022 was as follows :
Balance Sheet of Madhav Ltd. as at 315t March, 2022
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Particul Note | 31.3.2022 | 31.3.2021
articulars No. > =
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 35,00,000 | 25,00,000
(b) Reserves and Surplus
(Statement of P & L) 12,50,000 | 10,00,000
2. Non-Current Liabilities
Long-term Borrowings
(10% Debentures) 12,50,000 3,50,000
3. Current Liabilities
(a) Short-term Borrowings
(Bank Overdraft) 50,000 75,000
(b) Trade Payables 2,50,000 1,50,000
(c) Short-term Provisions 1 1,50,000 75,000
Total 64,50,000 | 41,50,000
II - Assets :
1. Non-Current Assets
Fixed Assets
(a) Tangible Assets 2 40,00,000 | 22,50,000
(b) Intangible Assets
(Goodwill) 3,50,000 5,00,000
2. Current Assets
(a) Inventories 6,25,000 5,00,000
(b) Trade Receivables 12,50,000 7,50,000
(c) Cash and Cash
Equivalents 2,25,000 1,50,000
Total 64,50,000 | 41,50,000
N N N
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~

@rdi o HIeH :

.. 31.3.2022 | 31.3.2021
.| Tora RN RN
q.
-
1 | CTYeRTA T
EXRICLIE] 1,50,000 75,000
2 | 9 Uit
T3 U9 wRid 44,00,000 | 25,00,000
2T Thiod odgT (4,00,000) |  (2,50,000)
40,00,000 |  22,50,000

STARE T :

i) @9 % A T 1,25,000 AT H Th WG 8 | wHha goasE
Z 50,000 T, <1 fasha T 45,000 ¥ fomam T |

(i) UG W T 1,25,000 SATS T YA T T |

I & TS I % YR W Hrgg fafdg i e nfafafiei’ qen foxi
Tfafafert’ & Ushg YaTg shl TUMET HifT |

R IRIRC)
oo - 11
(erfiresfers SaTeT)
27. 39 HSA H Tl OFeHAl hl T 9gd HH AT Teuiietar e &1, o foq fem
TR o1 HTFRSI Yebst 3fad T 2

(a)  STfaATd (b) faferse
(c) &Y d)  (b) AU (c) gHI

NS AN

28. (1) hedg HT (HISHhIhIA) S ATETIHAT B ¢
(a) Wi Hig s W & fow
(b) eI UfshwM o foIg
(¢) W@, gfdaed, 3eanfe gifera & & forg
(d) ST T T IihI0 a1 el o TE W@ & foie

AT
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. Particulars Amount Amount
< <
1 Short term Provisions
Provision for Tax 1,50,000 75,000
2 Tangible Assets
Plant and Machinery 44.,00,000 | 25,00,000
Less Accumulated Depreciation (4,00,000) | (2,50,000)
40,00,000 | 22,50,000

Additional Information :

(1) A part of the machine costing ¥ 1,25,000 accumulated depreciation
thereon being ¥ 50,000 was sold for 45,000 during the year.

(ii))  Interest of ¥ 1,25,000 was paid on Debentures.

Calculate cash flows from ‘Investing activities’ and ‘Financing activities’
of Madhav Ltd. from the information provided above. 6

PART B
OPTION - 11
(Computerised Accounting)

Which type of software package is suitable for an organization where the

volume of transactions is very low and adaptability is very high ? 1
(a)  Generic (b)  Specific

(c) Tailored (d)  (b) and (c) both

(i) The need of codification is for : 1

(a)  Generation of mnemonic codes.

(b)  The encryption of data

(c) Securing the accounts, reports, etc.

(d)  Easy processing of data and keeping proper records

OR

a2 2o 2o 4
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(i) G IR H IUR 64 o ToT¢ ATgeh! gRT <F TRT hal W Bl § ?
(a) 9T @I USHH=
(b) A (HH) QIdTeE]
(¢) ¥ WA IY-WTdegl
@  Tospa UsmmHEn

(i)  afErafal 6 geean adn gyl o garay U o ol SIaEm
(a) <hdd AfUehdd 3T TTSd A hl =T AT 2 |
(b)  I=aies == T@ar g |

(c) <had HEl TG i@ W i AT LT 3 |
(d) haw giErafEn 1 g @ 2 |

HAAAT

(i)  TE ##H# TG TSR Bl B
(a) 9 forelt T@&AT I I § WA fohal ST 7 |
(b) 9 Hed ey g gl |
(¢ 9 Hicw 9aTg ¥4 & foeqa 78 2 |
(d) 9 g Iy TEl B |

Th oA AT FR FET Th SR ok B CREREE]
a1 2 |

(a) Uk (b) T

(c) @ W«

T AR, Wie-3fee ase au Fer-fewEe asa’ @ F A 7 2

fopegl < smami W ot |freae aun ‘SIEY AireaTl (S8 |iFaR) H
3l TS $Ii§1Q |

(%) @A aqg wre] uREmfhEr S auEms |

HAAT
(@) eIl d 3T by I Tl Taa ad1 Fei ol 31 e |

fhgl g Taf™i o AT KU W A TS hl FcA9H Hid dlel [T Hrd
I Fd1SY T 39 HHEATST |
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(ii)  Where are the amounts owed by customers for credit purchases
found in books of accounts ?

(a)  Accounts Receivable Journal

(b)  General Ledger

(¢)  Accounts Receivable Subsidiary Ledger
(d)  Sales Journal

(i) To safeguard assets and optimise the use of resources, a business :
(a)  Only tries to earn maximum revenue.
(b)  Keeps internal controls.
(c) Only ensures accurate accounting records.
(d)  Only safeguards assets.

OR

(ii)  Correct ##### error appears :
(a)  When a number is divided by zero.
(b)  When value is not available.
(c) When column is not wide enough.
(d)  When formula is not available.

A ‘value’ or ‘function’ or an ‘arithmetic expression’ is recorded in
(a) Row (b)  Column
(c) Cell (d) Range

What is meant by ‘Memo Voucher’, ‘Post-dated Voucher’ and
‘User-defined voucher’ ?

Differentiate between ‘Generic Software’ and ‘Tailored Software’ on any
three basis.

(a)  Explain account group ‘Current Assets’.
OR

(b)  Give the meaning of ‘labels’ and ‘values’ as used in spreadsheet.

Name and explain the financial function which will be used to verify the
total interest on a loan between any two periods.
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